Optimale Brüche

<html>

  <script>

   function bruch(){


var p=0;


var q=1;


var zahl=Math.sqrt(7);


var min=zahl;

            var d=min;   


while(q<4000){

        
if (p/q<zahl)
{p++;}


          else

{q++;}



d=Math.abs (zahl-p/q);



if(d < min){

 


min=d;




document.write("Der optimale Bruch ist:  ");

                        document.write(p+"/"+q+"    Abweichung:  ");

                        document.write(Math.round(d*Math.pow(10,7))/Math.pow(10,7)+"<br>")



}


}

   }

   bruch();

  </script>

</html>

